<ZIEDEAHI>

[ 511:RIEORSLETHBT HEHE ] ([ fl2: MRICEREIGHBT D5E ]

[ &SR]

XEENFAB - BAE,
BBAENEEI.
XiemEESEL.

4 0000 ) HBKRER (00000 ) 4 0000 ) BRI (00000 )
. &M 2 & 8 A =M 2 £ 9A %M 2 % 108 . =M 2 £ 8 A =M 2 £ 9AR S 2 £ 10AR
RS L — | g s g
1 A ] A
2 20 Z = 2 . -
20 4 63 TROBEDOZIEDOEEZ FHTT,
3 > 8 1 s 5 |too)| 63 4
4 40 20 2 0 . 4 R2.8.1 BIGEDORfTE%T 5
5 5 (100 LFEX10%k)
6 8 28 H O L1 6 L . B .
; N SE e B .3 BBEEOHEZFTIEL T, Al
7 2 ) 0 a1 H 7
| 8 1 | 8 4 (R A 4 O | 8 1 | Mz 6 3 LIEAL, fllHEBHS
—— ——
0 H 7 [R5
—76 | —— ~ 6 | T n R A 4 IReFH e
27 20 3 ° 21 8.4  finE 2 WRRIE A
28 : ) . ~JH 2= HH g5 FH 28
29 SBLEOKE % . 5k
2 a0 . 2 (13000) 80 8 & 8.29 GFFLOEEAFTIEL T, %fi
30 40 30 A8 0 LEEA L, MBI
31 31 — s 8 B
3| 100 60 11 i | 200 | 143 14
(F) HEEITELTEALEEBEE. TOHEEZ () TRALTIESL, GE) BEZITELTEBALESERIE. TOREE () TRALTLESL,
ZI(TE > - RFEE fFE o -t ZTE > - RFEE - =R
20 % x 25 = 500 20 i x 100 2% x 10 %= 1000 % 100 (% x
£ RS W= (34 Lg% x (£ RS w= (3 (3£ B
L3 X = 32 ik X i35 X ®= ¥ LR X
& & 25 = 500 W & & & B 10 &= 1000 % & &

FEBEMNSIRY FITEIMES) OFIREARD - SINBEL—HLET,
FEBEMNSIRY FITRIBREE) 0 (V) WrALKRERYETS,
FRBEMNSIRY FITEIBEE) 0 () WISEALTLEIW,



